oo = == == ==[1[]

gogoooogggilododadgoaoooooadaann
000

goo:

OO0 : 2014/11/24 13:09:08

aod

doododopopooooooooood

https://aps.ncue.edu.tw/exampg n/index.php
do4000do0o0doodoodoooooooo0odooDdooooooooooDoooOon
0000000000 DOOoD0OOoD0OC http://cee2.ncue.edu.tw/ HO
goooooooooo
(OHoooooi1o3o11040@Ooo)ydlo40d10270 (@O0 O0)D0RRO0OD0OD00O000O0OO00O0OO0
0 http://cee2.ncue.edu.tw 0
(0)H)OOO0OD0D1030120150 (00 0)0104010270(000)0012000
(0H)ooooDo10403070(000)0

(0H)ooooD104030200(000)00400

0000000000000 000000b0000000(@0O0o04-72321050 0 O 540600 541300 5415
05418)0

http://163.30.202.2 2024/5/4 10:48:16 - 1


https://aps.ncue.edu.tw/exampg_n/index.php
http://cee2.ncue.edu.tw/
http://cee2.ncue.edu.tw
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

